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01 At 2teld] 28,370 13,370 15,000
[ Let==ZH| 15,870
O MEES 2 23T 22| 200,000& * 15002 3,000
O QIS nEX A5 12,000& * 25 * 1504 « 128 4,320
O #HEHH A28 FY 450,000& * 13| » 15044 6,750
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O S S| 2,000
O SSE2H2AM HE Exu= 100,000& * 20 2,000
[ Sl 10,500
O BAXx 22X E2 =4 700,000& * 15014 10,500
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O 3322 2 HAl 81,822
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O REANEZ 2503 » 1204 * 15002 450
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[ H=H| 36,828

Ol=3=3:] 36,828
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[0 28HXA, Mg X 20,000& * 4% x 353 2,800
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[0 8HXA & A= 112,800

O 8tk 180,000 = 40¥ = 12& 86,400
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e =0l 435t (ctel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
307 QIztoIA Al 2,000
01 A2 F=H| 4,000 4,760 AT60
O JI2EXZAMG 4,000
O SEXNAEHAY 4,000
dUAZTHEZ 100,000& = 409Y 4,000
I 2,000
Al 2,000
St AUS DB =F 6,800 11,106 24,306
Il 4,000
Al 2,800
202 O4dl 800 0 800
01 =LAl 800 0 800
[0 JISEZAY 800
O stgAH20|8t 25 g2 =& 20,000& » 2H = 203 800
405 AHoHFESHI 6,000 11,106 25,106
Il 4,000
Al 2,000
01 T =SEFHSHI 6,000 11,106 5,106
[0 JISEZAY 6,000
O stgA2I|B 1= 6,000,000 14 6,000
| 4,000
Al 2,000
dEEo e 2e] Y Atk 943,921 853,236 90,685
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M AAE NHEEAHAZ AHIA NS
el dFEoEae] 2 B (el &)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
dggogael & Sargx = 18,779
| 107,627
= 74,693
Al 742,822
LHESHEEH 2l 85,160 103,528 A 18,368
201 LBt 3 | 12,400 2,000 10,400
01 AtR2teld 5,800 2,000 3,800
[ Ler2d| 5,600
O dgduy 222 M 500& * 1,500% * 43 3,000
O dggad 23y = 26,000& » 58 = 202 2,600
0 ey 200
O olol= g 28 2A =2 100,000& * 23| 200
02 ==29gl 6,600 0 6,600
O 3322 ¢ MA 600
O dggael HaHel =2 50,000& * 123l 600
O] A& Z&Hl | 6,000
23 &dl 2l 200,000& * 5& * 63l 6,000
202 O4Hl 7,040 7,040 0
01 =2LH0IHI 7,040 7,040 0
O dg8eht tdEsE & Ik &3 20,000& » 4H = 533 4,240
[ Z 2 shelHetxt 2tel 20,000& = 2H = 703 2,800
301 LptEaz 5,220 5,648 A428
10 SAIAHIENS 5,220 5,648 A428
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O M=stdiololy AL HAX 24 80,000& = 60Y = 13 4,800
307 QIZ2t0|A 48,500 65,840 A 17,340
01 =4 32=Hl 37,500 55,840 18,340
] olol= &Xt Xl=Hl X& 250,000& = 3Y = 6& 4,500
(] YelZAlE Al 2 ADE R (LI AAL9E) 250,000& * 108 = 12& 30,000
[0 stdlly Xs4E 2 10,000& * 1509 * 28 3,000
05 QIZIRE = 11,000 10,000 1,000
[] st ete| = 11,000,000& * 13 11,000
405 KH&HFE S HI 12,000 9,000 3,000
01 XA =SEFSHI 12,000 9,000 3,000
O A XEE8EH 7L 5,000,000& * 1CH 5,000
] PHOIEt &HI 2,000,000& * 1CH 2,000
O 2ol A 2 5,000,000& * 1CH 5,000
gHAE L EH 372,168 360,229 11,939
101 Q12| 166, 188 143,483 22,705
10 JIZHM2ENsSEL 166, 188 143,483 22,705
[] gAASoI2 146,380
O FUERAS 35,000& * 29 = 130 9,100
O ot a s 33,000 * 328 = 130 137,280
O geAs 018 &= 22 70,000& = 509 3,500
(] 402882 16,308
O AeEEg= 146,380,000& * 2.24/100 3,279
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[ g$HAs 22 QEH0 RFH 1,800  300L * 32CH 17,280
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